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B.A. (CBCS) DEGREE EXAMINATION,
-~ NOVEMBER 2022.

Féurth Semester
Economics — Allied
AGRICULTURAL ECONOMICS
(Foxr those who jéined. in July 2020 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1= 10 marks) |
Answer ALL questions.

Choose the correct answer :
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Very high proportion of working population is

engaged in sector in India.
(a) agricultural (b) industrial
(c) service . (@) all the above

@rdurals elmssstiulL. Hagsdar Qumb Lss
5@ ATLLanTSsUUL_(HeTergl.

(<=1) CGarglano (=) @pd

() Carerd

(&) sowy

The largest part of the land sown in India is
devoted in
(a) Wheat . (b) Paddy
(¢) Sugarcane (d). Cor.n
Fley 2 geupibLy eresmmed _

(=) Sgrotiyp  Hekisear snGurgieter  teradld
Blirammud g '
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Liand ceiling means

(a) to determine the rural land holdings at the
existing level ' '

.

(b) to determine the quantum of land holdings
by a family

() todetermine the urban land holdings

(d) to determine the land for irrigation

Baé Erdlmssmiser GTGTLIg;)
pAlLusDErESSTET, '
(<=t} eumyd (=) evmub-

(@) Qe ssysiser ()

Blev 2 fMeniowmeriaar

Land reforms are to eliminate

(a) rent (b) profit

(c) middlemen . ‘ (d) land owners
Gevamanior:yy & 8 2pusd Qslw
Qam_rsliicL g,

(=) WBe (@) Gpa

(@) a_zma.{gr@ﬁuéw;w () Liméd
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White Revolution was started to produce

(a) Fish ‘() Paddy -
(¢) Food grains (d Milk

Qsmflér Couerramenio FMiibs ASTHDIGES
2@ T0s555T0- : :

(=1) SACwewr (=) geef

(@) sywso (m) @by LHPYID &G
industry is an example for agfo based

industry.

(a) cement (b) textile

(¢ mining (d) . iron and steel

Qu@fourra)rrén QgmflemarieaeT QUGS

Simano W hmeui&eT,

(=) Geuermarr (<) Qsmfergienm

(@) GCaeameus gienm (F) Q& ggib G
Majority of the workers are generally
unskilled. ' ’

(a) agricultural o (o)  industrial

(c) service sector (d) none of these
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10.

Armoliyprisafld Blawhy Ceuarman Qsmfleomeriaaiier
cranranfl Gane :

(@) eopps uGAnS

(<p) LOTDILDED 2 eTerg)
(@) =Bsfss acins
()  oHD Q&SNS 2 derg

In the rural areas, the number of landless
agricultural labour is :

(a) decreasing (b) remaining constant
(¢) increasing (d) fluctuating
Uit snUS®E LGt LEEGH LHIID Gren

'@ran () euemssernal AN &aELLC [ erarg).

(=) vl Qeaey (=) Ll eumeumi

(@) wuli eupbyy () Ll upiy

‘Crop insurance is divided into two categories as

crop yield and

(a) Crop cost (b). Crop revenﬁe
(¢) Crop margin (d) Croparea
Ceuernair eflenad yenaurId : D et
Fs‘mmeia;DuLng.
T (=) 1948 (<) 1951
(@) 1962 l () 1965
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The Agricultural Prices Commission was set up in 13, (&) wsawliund ffd samnasne 55050
— e ~

the year ; . .

¥ _ ' Mention the benefits of green revolution.
(a) 1948 (k) 1951

: Or
(c) 1962 (d) 1965

' (=) Gsrlf el @& séemnsd Larama?
PART B — (5 x 5 = 25 marks) ’
What are the benefits of pouliry farming?

Answer ALL questions, choosing either (a) or (b).

/ 14
Each answer should not exceed 250 words. /

11, (=) Gwmnmmmé@m Qsmiler gansEn B G

2 éTer &nfi favewan s sT1L(Hs.
] Or
Show the inter dependence between
agriculture and industry. (@) Caewer gopls g adl gapars 2 é1eE?
Or Why are wages low in the agricultural
) secter?
(=) 6n dasnfsadsr Qrésmasmer Ll gl fs.
List the problems of marginal farmers. 5. (&) sheplifis: =av eudidfe Gogara
eveTiifEsrer arrarhsae FEEEsTE &IOS,
12. (o) foféidosssdar Conssnsmer aps. - N P
T Summarize the reasons for the slow growth
State the objectives of land reforms. of marketable surplus.
Or i
(<) @enLssrarsaner PPlusnd ghufb (=) T
. ‘ =D Colicshaelal
GhlaneTe&aT Wirenal?
What are the effects of iti
abolition of Enumerate the objectives of public

intermediaries? . _
distribution system.
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16.

17.

PAR'T C — (b x 8 = 40 marks)

Answer ALL questions, choosing either (1) or (bh),

Iiach answer should not exceed 600 words,

(1) Cauemirair

(1)

(<)

opubHludicn  Cundgadr L

oNeurdea,

0

Discuss  the trends in agricultural

production.

Or

Geuatnamranin o) aﬂn)sm‘ur uuﬂa,rﬂuua,yuanrrm
BL-QIIq EDEHEET GT(1pEHIG,

Write the measures to increase the

productivity in agriculture.
Gssms sl gdear Curidalssmer sryartisamar
aflouée.

Describe the reasons for the failure of
tenancy legislation.

Or

dal_ ey Gmmrrmrmmuﬁ]m G(HEEDS UGS
sflenésayib.

Define and explain the
co-operative farming,

concept of
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(1)

(=)

b—;’r‘z‘“ﬂ?‘)&"/%’)fﬁj"ﬁ@

M i (),

i matien LY,

areanniren auyadilaome (s, srig L.

Outline the factors responsible for  low

productivity of forcsts,
Or
CILDE G U a7

L avit Guerir's Seir gy

What are the benefits of floriculture?

CLaergior Agmflararizatien creiranfiEens
BN OLghsnern syerrigoer smoflueyb,

Identify the causes for the incresse in
number of agricultural labourers.

Or
Gpfluredld,  Couemmezr  Caniflereriaefian
Hlenzvenioanil Ciobu@ss qun@/cfm%cr

wleuigdensaenar Uilbgenyssab.

Suggest suitable measures to improve the
conditions of agricultural labourers in India.
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200 ()

(<)

poaoie]  Lngsmnpance  wmCam  sapaeser
e denon,

Ixplain  the various components of food
seeurity,

Or
Ll snCnSi g 6 Lievasiaen end; a.edrBluiagb.

["ind the benelits of crop insurance.
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